

ON SOME CHARACTERISTICS OF GENERALIZED
 CONVEX SEQUENCES

IGOR Ž. MILOVANOVIĆ, JOSIP E. PEČARIĆ, NEBOJŠA M. STOJANOVIĆ
 and BEHDET A. MESIHOVIĆ

(Niš, Zagreb)

Let $a = (a_1, \dots, a_n)$ be a real sequence. The operator L_{pq} , where p, q are real positive numbers, will be defined in the following way (see [1])

$$L_{pq}(a_k) = L_q(L_p(a_k)) = L_q(a_{k+1} - pa_k) = a_{k+2} - (p + q)a_{k+1} + pqa_k$$

If we have $p = q = 1$, then the operator L_{pq} reduces on the operator Δ^2 . We shall say that a sequence $a = (a_n)$ is (p, q) -convex if inequality

$$L_{pq}(a_{k-2}) \geq 0$$

is valid, for all $k = 3, 4, \dots, n$.

Let $a = (a_1, \dots, a_n)$, $w = (w_1, \dots, w_n)$ are two real sequences. Applying the generalized Abel transformation (see [2]) we shall say that following two identities hold (see [3])

$$(1) \quad \sum_{i=1}^n w_i a_i = a_1 W_1 + \sum_{k=2}^n W_k L_p(a_{k-1}) \quad \left(W_k = \sum_{j=k}^n p^{j-k} w_j \right)$$

$$(2) \quad \sum_{i=1}^n \sum_{j=1}^m x_{ij} a_i b_j = A_{11} a_1 b_1 + b_1 \sum_{r=2}^n A_{r1} L_p(a_{r-1}) + a_1 \sum_{s=2}^m A_{1s} L_q(b_{s-1}) + \sum_{r=2}^n \sum_{s=2}^m A_{rs} L_p(a_{r-1}) L_q(b_{s-1})$$

where

$$(3) \quad A_{rs} = \sum_{i=r}^n \sum_{j=s}^m p^{i-r} q^{j-s} x_{ij} \quad (1 \leq r \leq n; 1 \leq s \leq m)$$

Now we will introduce the following notation

$$B_{r1}^2 = \begin{cases} \sum_{i=r}^n \sum_{j=1}^m q^{j-1} \frac{p^{i-r+1} - t^{i-r+1}}{p-t} x_{ij}, & p \neq t \\ \sum_{i=r}^n \sum_{j=1}^m (i-r+1) p^{i-r} q^{j-1} x_{ij}, & p = t \end{cases} \quad r = 2, \dots, n$$

$$(4) \quad B_{1s}^2 = \begin{cases} \sum_{i=1}^n \sum_{j=s}^m p^{i-1} \frac{q^{j-s+1} - r^{j-s+1}}{q-r} x_{ij} & q \neq r \\ \sum_{i=1}^n \sum_{j=s}^m (j-s+1) q^{j-s} p^{i-1} x_{ij} & q = r \end{cases} \quad s = 2, \dots, m$$

$$B_{rs} = \begin{cases} \sum_{i=r}^n \sum_{j=s}^m \frac{p^{i-r+1} - t^{i-r+1}}{p-t} \cdot \frac{q^{j-s+1} - r^{j-s+1}}{q-r} x_{ij} & p \neq t \\ \sum_{i=r}^n \sum_{j=s}^m (i-r+1)(j-s+1) p^{i-r} q^{j-s} x_{ij} & p = t \end{cases} \quad \begin{matrix} q \neq r & 2 \leq r \leq n \\ q = r & 2 \leq s \leq m \end{matrix}$$

Using identities (1) and (2), we can get the following identities :

$$(5) \quad \sum_{r=2}^n A_{r1} L_p(a_{r-1}) = B_{21}^1 L_p(a_1) + \sum_{r=3}^n B_{r1}^1 L_{pt}(a_{r-2})$$

$$(6) \quad \sum_{s=2}^m A_{1s} L_q(b_{s-1}) = B_{12}^2 L_q(b_1) + \sum_{s=3}^m B_{1s}^2 L_{qr}(b_{s-2})$$

$$(7) \quad \sum_{r=2}^n \sum_{s=2}^m A_{rs} L_p(a_{r-1}) L_q(b_{s-1}) = B_{22} L_p(a_1) L_q(b_1) + L_q(b_1) \sum_{r=3}^n B_{r2} L_{pt}(a_{r-2}) + L_p(a_1) \sum_{s=3}^m B_{2s} L_{qr}(b_{s-2}) + \sum_{r=3}^n \sum_{s=3}^m B_{rs} L_{pt}(a_{r-2}) L_{qr}(b_{s-2}).$$

By substitution of (5), (6) and (7) in (2) we obtain :

$$(8) \quad \sum_{i=1}^n \sum_{j=1}^m a_i b_j x_{ij} = A_{11} a_1 b_1 + b_1 L_p(a_1) B_{21}^1 + a_1 L_p(b_1) B_{12}^2 + B_{22} L_p(a_1) L_q(b_1) + b_1 \sum_{r=3}^n B_{r1}^1 L_{pt}(a_{r-2}) + a_1 \sum_{s=3}^m B_{1s}^2 L_{qr}(b_{s-2}) + L_q(b_1) \sum_{r=3}^n B_{r2} L_{pt}(a_{r-2}) + L_p(a_1) \sum_{s=3}^m B_{2s} L_{qr}(b_{s-2}) + \sum_{r=3}^n \sum_{s=3}^m B_{rs} L_{pt}(a_{r-2}) L_{qr}(b_{s-2})$$

From identity (8) the following result follows directly :

Theorem 1. Let $x_{ij} (1 \leq i \leq n; 1 \leq j \leq m)$ be real numbers.
Inequality :

$$(9) \quad \sum_{i=1}^n \sum_{j=1}^m x_{ij} a_i b_j \geq 0$$

is valid for (p, t) -convex sequence $a = (a_1, \dots, a_n)$ and (q, r) -convex sequence $b = (b_1, \dots, b_m)$ if and only if :

$$A_{11} = 0, \quad B_{r1}^1 = 0 \quad (r = 2, \dots, n), \quad B_{1s}^2 = 0 \quad (s = 2, \dots, m)$$

$$B_{r2} = 0 \quad (r = 2, \dots, n), \quad B_{2s} = 0 \quad (s = 3, \dots, m)$$

$$B_{rs} \geq 0 \quad (r = 3, \dots, n; s = 3, \dots, m)$$

Where $A_{11}, B_{r1}^1, B_{1s}^2$ and B_{rs} are defined with (3) and (4).

Proof. The sufficient conditions follow directly from identity (8). We can check the necessity of the conditions using sequences constructed in theorem 1 of [5].

Remark 1. In special case, when $p = q$ and $r = t$, we obtain from theorem 1 the necessary and sufficient conditions for validity of (9) if we have two (p, q) -convex sequences.

Remark 2. The cases $p = q \rightarrow 1$ and $r = t \rightarrow 1$ are considered in [4].

Remark 3. The inequality (9) has been considered at first time by T. Popoviciu [6], but under different conditions.

Remark 4. For $q = p, r = t, b_j = p^{j-1} (j = 1, \dots, m)$ and $\sum_{j=1}^m x_{ij} b_j = a_i, i = 1, \dots, m$, from theorem 1 we obtain the result proved in [5].

Analogously, we can prove the following result :

Theorem 2. Let $x_{ij} (1 \leq i \leq n; 1 \leq j \leq m)$ be real numbers. **Inequality (9) holds** for (p, t) -convex sequence $a = (a_1, \dots, a_n)$ and q -monotonous sequence $b = (b_1, \dots, b_m)$ if and only if :

$$A_{1s} = 0 \quad (s = 1, \dots, m)$$

$$R_{r1} = 0 \quad (r = 2, 3, \dots, n), \quad R_{2s} = 0 \quad (s = 2, \dots, m)$$

$$R_{rs} \geq 0 \quad (r = 3, \dots, n; s = 2, \dots, m)$$

where A_{1s} is defined by (3) and R_{rs} is defined by

$$R_{rs} = \begin{cases} \sum_{i=r}^n \sum_{j=1}^m q^{j-s} \frac{p^{i-r+1} - t^{i-r+1}}{p-t} x_{ij}, & p \neq t \\ \sum_{i=r}^n \sum_{j=1}^m (i-r+1) p^{i-r} q^{j-s} x_{ij}, & p = t \end{cases} \quad \begin{matrix} 2 \leq r \leq n \\ 1 \leq s \leq m \end{matrix}$$

REFERENCES

1. Lacković Ć. B., Kocić Lj. M., *On some linear transformations of quasi-monotone sequences*. Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., No 634—677(1979), 208—213.
2. Lupaş A., *An integral inequality for convex functions*. Ibid. No 381—419(1972), 17—19.
3. Pečarić J. E., *On some inequalities for quasi-monotone sequences*. Publ. Inst. Mat. **30(44)**(1981), 153—156.
4. Pečarić J. E., *On some inequalities for convex sequences*. Ibid. **33(47)**(1983), 173—178.
5. Milovanović I. Ž., Kocić Lj. M., *Invariant transformation of generalized convex sequences*. Anal. Num. Theor. Approx. (To appear).
6. Popovićiu T., *On an inequality (Romanian)*. Gaz. Mat. Fiz. **A3(64)**(1959), 451—461.

Received 15.I.1985

Faculty of Electronic Engineering
 Department of Mathematics
 P.O. Box 73
 18000 Niš, Yugoslavia